D1viSION WITH A REMAINDER II (H - SET 4)

DIVISION WITH A REMAINDER Name:
Time: Score: y—
301) 28829 =+ 5 = 3160 685 + 5 =
302 8579 +1 = 520049 + 10 =
303 68941 = 7 = 318) 24991 =+ 9 =
301 35298 =+ 10 = 319) 87H2 +2 =
305 69004 + 8 = 200 6784 +1 =
3000 16913 + 3 = 21 8384 +1 =
307 3649 = 2 = 322) 2321 +1 =
s08) 41232 + 10 = 323 18253 +3 =
309 6248 + 2 = 24 54232 +9 =
310) H34T7T =6 = 325) 13636 + 4 =
sty 21230 =6 = 200 5324 +1 =
312) 54085 <+ 6 = 27 31580 + 6 =
313 36518 =+ 10 = 28) 7791 =1 =
sty 41208 + 7 = 200 16793 +4 =
315 10357 = 2 = 330) 45835 =+ 9 =
Mathematics: Division - Level § - Horizontal - Set 4 12 culu


https://www.workulum.com

